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QUESTION 1

What is the maximum precision for the DECIMAL data type?

A7

B. 15

C.23

D. 31

Correct Answer: D

A decimal number is a packed decimal number with an implicit decimal point. The position of the decimal point is
determined by the precision and the scale of the number. The scale, which is the number of digits in the fractional part

of the number, cannot be negative or greater than the precision. The maximum precision is 31 digits.

Reference https://www.ibm.com/support/knowledgecenter/en/SSEPEK _11.0.0/intro/src/tpc/
db2z_numericdatatypes.html__

QUESTION 2

Which three facilities are used to control authorization in DB27?
A. privileges, db2ssh, LBAC credentials

B. privileges, authority levels, certificates

C. db2ssh, trusted contexts, authority levels

D. privileges, authority levels, LBAC credentials

Correct Answer: D

QUESTION 3

Which of the following is designed for continuous availability, increased throughput of many concurrent short queries,
and easy scalability?

A. DB2 HADR

B. DB2 pureScale

C. DB2 Express-C

D. DS2 Database Partitioning Feature

Correct Answer: B
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QUESTION 4

Which of the following DB2 objects in an efficient way of representing data without the need to maintain it and requires
no permanent storage?

A. View

B. Alias

C. Table
D. Schema

Correct Answer: A

QUESTION 5

Which of the following statements will successfully create a table that scores index data in a different table space than
the table data?

A. CREATE TABLE t1 (c1 INT, c2 INT);

B. CREATE TABLE t1 (c1 INT, c2 INT) IN TS1 INDEX IN TS2;

C. CREATE TABLE t1 (c1 INT, c2 INT) IN TS1 INDEX IN TS1;

D. CREATE TABLE t1 (c1 INT, c2 INT) DATA IN TS1 INDEX IN TS2;

Correct Answer: B
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